ra- S

) i 2adkis
-@5::::-;-;;;;.5- JILINIURIVERSHVORECHEOTOG

0 2 S FRAT R A e



BLtE FHH

o 7.1 -'%:/’f'v’]: =
o 7.24 3 F
e 733K
e TARK
. 7.55 4

fa fa fa

Yo A A5 X, 18] )~
BE5RIFH:

1) )

# XA

o e, |



BLtE FHH

- fEPythonth, FHBETAULEFFS, FRESIS. W3S,
=85 |S5=VEI1SFAERF, HFEARRNERGFZEILAEEER
=34

‘abc'. '123'. 'H[HE"'

"Python"

"'""Tom said,"Let's go"'""'



BLtE FHH

BRTSOSEFAIERALE (BENERS] RN ITTERKE. TR
pa). IR, RERINAEERIE) L, FARREESIFT—ESER
EAERR, PIlFrrEasnil. B &R JHREE.

- FRHRBRTAUEFY, FEEERNFRENSETITREN. 2K
SFEFERE, Y RREEREENEETIITTERMILEFERT R FKE
BT ER PRI T



BLtE FHH

- BR 7345 Unicodef®iZaIstraBl 25, PythoniASziF=T588L8!
bytes, strEBi=zfFERuILliEIdencode()/5 iR ERIEENZEHR
BI&Imag R NbytesXds:, mMbytesXIE NI LEIdecode() %
(E B mADTETFEAD R IStr== T e,



7.1 FHEHGEBIAEIT

o BT T B R E DAL S THABASCI,
26/ KB X F A 264N LA — L5 BAT T B

ASCI TS K B 1A 57 kAT 5

A #EA

THA, &% REk

10:21:10

AL 10N 2 5

AR T206 N 5o



10:21:10

7.1 FHEHGEBIAEIT
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7.1 FFEREMEINET
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7.1 FREHRmEMEIEIT

>>> "F4+H " .encode('utf8")
b'\xe8\x91\xa3\xe4\xbb\x98\xe5\x9b\xbd"
>>> "F4+HE " .encode('cp936')
b'\xb6\xad\xb8\xb6\xbo\xfa"'
>>> "F4+EH " .encode('cp936').decode('cp936")
‘EAES
>>> 'Python X iX A5 ' .encode('utf8').decode( 'cp936")
Traceback (most recent call last):
File "<pyshell#63>", line 1, in <module>
"Python~ LLiX#£5 ' .encode('utf8').decode('cp936")
UnicodeDecodeError: 'gbk' codec can't decode byte Oxaf in position 8:
illegal multibyte sequence
>>> '"Pythonf2 5% i+ & £3 ' .encode('cp936').decode( 'utf8")
Traceback (most recent call last):
File "<pyshell#64>", line 1, in <module>
"Pythonf2 5 X F X EH# ' .encode('cp936"').decode('utf8")
UnicodeDecodeError: 'utf-8' codec can't decode byte 0xb3 in position
6: invalid start byte

e - .
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7.1 FFEREMEINET

mPython 3.x %4 XL #H ¥ LFH, Bk AUTFSEMA X, k2 —AKF.
RXLFHF, TR -NF, EHITFAERKRENISRE—ANFHAS L,

>>> s = "FYELABEE

>>> len(s) #FFERE, Sk b FHIM

6

>>> s = "FELAIESABCDE'  #¥ X5 EXFHRIESL, HRE—AF
A

>>> len(s)

11

>>> % = k=" #ER T XA EEL
>>> print(4#.4%) #8944

K=

10 S
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7.2 FBEHFERIAFERH
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7.2 FBEHFERIAFERH

= 3 SR

>>> print('Hello\nWorld") #&, 5 L F 40T B
Hello

World

>>> print('\101") # = A5 N\ ) BT N8 A
A

>>> print('\x41") #I AL+ o ) HOd B 8 A
A

>>> print (' & 2\u8463\uded8\u56fd' )#vgfs+ >< 4] # & TUnicode =4

RAFAE

12 iy
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B 7.2 FBEHFERIAFERH

c AT BT E PN FARATENL, TURERARBFFE, AFH B
‘i EFErRRETREFASE, L PR FAARETRENS M AE3
AFAEAT 35 3L,

>>> path = "C:\Windows\notepad.exe'
>>> print(path) # 2 AF\NAR 3% SUA AT AT
C:\Windows

otepad.exe
>>> path = r'C:\Windows\notepad.exe' #BE4EF5H B, AEAT FIFH T35 3L

>>> print(path)
C:\Windows\notepad.exe

13 St



7.3 FHFHEMIAML

© 7.3.1 A& A %3iE FH AF BEAT#E AL
® 7.3.2 ¥ JH formatF ik AT X AL

0733 BAMNHEH ST =
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7.3.1 EFH%EEMFHTIHENL
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7.3.1 EFH%EEMFHTIHENL

o % M XFH

B RFERF vt B

%s FrrE CRHstr ) B ER)

%r T8 CRHrepr O BER)

% BN LT

%d b R R

%i b R R

%0 )\t i B2 5

%x RVAY il

%e B (LIRS AHe)

%E e GLEEANE)

%f. %F N

%g T2 (o) BUF R RIE R R KE)
%G TR (E) 87 m 8 ORIE B K E)
%% —NEERE%”
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7.3.1 EFH%EEMFHTIHENL

>>> x = 1235

>>> so = "%0" % X
>>> SO

"2323"

>>> sh = "%x" % x
>>> sh

"4d3"

>>> se = "%e" % X
>>> se
"1.235000e+03"
>>> chr(ord("3")+1)
ll4ll

>>> "%s" % 65
ngom

>>> "%s" % 65333
"65333"

>>> "%d" % "555"
TypeError: %d format: a number is required, not str

17 e
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7.3.2 fgRformat()75 A1 TRIL

>>> 1/3

©.3333333333333333

>>> print('{0:.3f}'.format(1/3))
0.333

>>> '{0:%}'.format(3.5)
'350.000000%'

>>> '{0: _},{0: x}'.format(1000000)
‘1 000 _000,f 4240"

>>> '{0:_},{0: x}'.format(10000000)

'10_000_000,98 9680

18
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7.3.2 fgRformat()75 A1 TRIL

>>> print("The number {0:,} in hex is: {0@:#x}, the number {1} in
oct is {1:#0}".format(5555,55))
The number 5,555 in hex is: ©x15b3, the number 55 in oct is ©067

>>> print("The number {1:,} in hex is: {1:#x}, the number {0} in
oct is {0:0}".format(5555,55))

The number 55 in hex is: ©x37, the number 5555 in oct is 12663

>>> print("my name is {name}, my age is {age}, and my QQ is
{gqq}" .format(name = "Dong Fuguo",age = 40,qq = "30646****"))

my name 1is Dong Fuguo, my age is 40, and my QQ 1s 30646****

>>> position = (5, 8, 13)

>>> print("X:{0[0]};Y:{0[1]};Z:{0[2]}".format(position))

X:5;Y:8;7Z:13

19 =
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7.3.2 {ERformat()5EiH#H TR ML

weather = [("Monday", Palny") ("Tuesday", "sunny"),
("Wednesday", "sunny"),("Thursday","rainy"),
("Friday", "cloudy")]

formatter = "Weather of '{0[0]}' is '{@[1]}'".format

for item in map(formatter,weather):

print(item)
for item in weather: N
print(formatter(item)) il I
BATE R
Weather of 'Monday' is 'rainy'
Weather of 'Tuesday' is 'sunny'
Weather of 'Wednesday' is 'sunny'
Weather of 'Thursday' is 'rainy'
Weather of 'Friday' is 'cloudy'
20 *_:_:_,
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7.3.3 BN FHREE

- M\Python 3.6.xH 46 3 £ — Mg 27 sf 48 XA 720, B Formatted String
Literals, &5 4F & AT v 78, &% X52FH X Rformat() 775K

>>> name = 'Dong'

>>> age = 39

>>> f'My name is {name}, and I am {age} years old.'
'My name is Dong, and I am 39 years old.'

>>> width = 10

>>> precision = 4

>>> value = 11/3

>>> f'result:{value:{width}.{precision}}"

'result: 3.667'

21 =
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7.4 FREERBRME

o PythonFAF $ X Z R T K27 E A T FA S0, &4, i
HERF AR, F 5N EA KEN B R M A8 AT H 3 T4 8 69 84k
o FHEMRERALTELAN, MAFH N ERMENTIRIFHE "B
WY 77 PR AR R S BUG B R FAT 8, JE R R A FAT B AR TR

F—H15k

22 =
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7.4.1 find(). rfind(). index(). rindex(). count()

m find(). rfind(). index(). rindex(). count ()

v find() ferfind FE 55 A RER —NFHBED —NF5F P
B ETCE (KRAZENFHE) YAHAFom s — R BIRNILE,
S R G AE N B =1

v index () ferindex () ik A kB & —ANFH B LS —NFHF P
SECBE TR R E—ABINNILE, WwERAHLENME F7;

v count () 7 & A R AB W — AN FAF & A L AT F A P A b I ok A

23 o
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7.4.1 find(). rfind(). index(). rindex(). count()

e

>>> >>> s.index('pear')
s="apple,peach,banana, peach,pear™ |25
>>> s.find("peach") >>> s.index('ppp"')
6 Traceback (most recent call
>>> s.find("peach",7) last):
19 File "<pyshell#11>", line 1,
>>> s.find("peach",7,20) in <module>
-1 s.index('ppp"')
>>> s.rfind('p') ValueError: substring not
25 found
>>> s.index('p"') >>> s.count('p')
1 5
>>> s.index('pe') >>> s.count('pp')
6 1

>>> s.count('ppp')

(%]

24 e .
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7.4.2 split(). rsplit(). partition(). rpartition()

split(). rsplit(). partition(). rpartition()

split () Fersplit () k53 B R VAIS & F455 A 5184, %5 34
BINEEE RNERE LS TR ZANTHAE, FEB LS TRE R
P4 ;

partition() ferpartition() i k238 T 554 5 4 o R 5B
ATEA3HL, A aaFHE. 2RGFHE. 2RAEHTF
¥, mRBANSBARERTHEF, NBERFHE RN

745 ¥ o

H
4%

25
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7.4.2 split(). rsplit(). partition(). rpartition()

>>> s = "apple,peach,banana,pear” PN
>>> s.split(","

["apple"”, "peach", "bana
>>> s.partition(',"
('apple', ',"', 'peach,banana,pear')
>>> s.rpartition(',")
('apple,peach,banana’, ',', 'pear')
>>> s.rpartition('banana’)
('apple,peach,', 'banana', ',pear')
>>> s = "2017-10-31"

>>> t = s.split("-")

>>> print(t)

['2017', '10', '31']

>>> print(list(map(int, t)))

[2017, 10, 31]

26 s
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7.4.2 split(). rsplit(). partition(). rpartition()

msplit() fersplit () # EEAHFI & K92k H

>>> s = '"\n\nhello\t\t world \n\n\n My name is Dong '

>>> s.split(None, 1)

[ "hello', 'world \n\n\n My name is Dong "]

>>> s.rsplit(None, 2)

[ "\n\nhello\t\t world \n\n\n My name', 'is', 'Dong’]

>>> s.split(maxsplit=6)

[ "hello', 'world', 'My', 'name', 'is', 'Dong']

>>> s.split(maxsplit=100) # R K518 RE KT 7T 5 18 R E B AL
[ "hello', 'world', 'My', 'name', 'is', 'Dong']

27
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7.4.2 split(). rsplit(). partition(). rpartition()

w3t Fsplit () Fersplit ) ik, e R 45 €5 @4, W FH S P GIEAT
TOHT (B BATH. #IRGF) REHPOAA RSB, feits:
SN aFHEE AN TR,

>>> s = 'hello world \n\n My name is Dong '

>>> s.split()

[ "hello', 'world', 'My', 'name', 'is', 'Dong']

>>> s = '"\n\nhello world \n\n\n My name is Dong '

>>> s.split()

[ "hello', 'world', 'My', 'name', 'is', 'Dong']

>>> s = '\n\nhello\t\t world \n\n\n My name\t is Dong '

>>> s.split()

[ "hello', 'world', 'My', 'name', 'is', 'Dong’]

28 =
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7.4.2 split(). rsplit(). partition(). rpartition()

o R, PAAAAE 1B 54838 Asplit) 4 ) 89 o T AT B, 1R LR — 449,

>>> 'a,,,bb,,ccc’.split(’,") #AE NZ SRR A Ak 589 5 Ta AF
[‘ta*, "', "', 'bb', "', 'ccc']

>>> "a\t\t\tbb\t\tccc'.split('\t") #& A5 KAFARMAE A 2k 5269 5@ 4F
[‘ta*', "', "', 'bb', "', 'ccc']

>>> 'a\t\t\tbb\t\tccc'.split() #i%E 4 % NR R SF AR A — A T8 5

['a', 'bb', 'ccc']

29



10:21:10

7.4.3 join()

s i & E3% join ()

EAESF

>>> 1i = P"apple”, "peach", "banana", "pear"]

>>> ', '.join(11)
"apple,peach,banana,pear’
>>> '.'.join(11i)
‘apple.peach.banana.pear’
>>> '::'.join(1li)

"apple: :peach: :banana: :pear’

30 ——s
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7.4.3 join()

o FlAM R 1% Asplit)Fejoin() 7 E MR FAF & 7 % 202 G F4HF, &4
ZANE G FHARE — A

>>> X = 'aaa bb cde fff '
>>> ' ".join(x.split()) #i¢ B = AR A AT
'aaa bb c d e fff'
>>> def equavilent(sl, s2): #3) B B A F 45 & f£Python& L E
A HFM
if s1 == s2:
return True
elif ' '.join(sl.split()) == ' '.join(s2.split()):
return True
elif ''.join(sl.split()) == ''.join(s2.split()):
return True
else:

return False
>>> equavilent('pip list', 'pip list")
True

31
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7.4.4 lower(). upper(). capitalize(). title(). swapcase()

mlower (). upper (). capitalize(). title(). swapcase ()

>>> s = "What is Your Name?"

>>> s.lower() #iB W NB F 5B
'what 1s your name?'

>>> s.upper() #iB ] K5 F 55 P
"WHAT IS YOUR NAME?'

>>> s.capitalize() ¥FRFEHFHFRE
'What is your name?'

>>> s.title() #EN2EaFHERE
'What Is Your Name?'

>>> s.swapcase() # X5 I

'"WHAT IS yOUR nAME?'

32 s



m & FHHreplace (), EM FWordd g “ A3 Fat,

53> § = ll‘:lj, ‘:Fn
>>> print(s)
FE, +HE

>>> s2 = s.replace("FEH", "PLAREFEA") #BHA
b1

>>> print(s2)

FTARARKAE, FHEARSAE

33 e
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7.4.5 replace(). maketrans(). translate()
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7.4.5 replace(). maketrans(). translate()

- FER AR MR SN A BURGE],  WERA AT SRR B
Tﬁ%jj3/\ =] IZI ***

>>> words = ("I, "ARAT, CEIt, )
>>> text = AEEAH LS
>>> for word in words:
if word in text:
text = text.replace(word, '***')
>>> text

STl e S R S

34 S,
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7.4.5 replace(). maketrans(). translate()

= FHF P af Fhgmaketrans () 7% B R AR FABA £, mtranslate() 7k
JRARIEBAT R Z L3 X R R FHE TR REFOFTH, A
B AN F RO A T AR AL S AT

X AR AR
A BARBAT R 3R 0
#e) ZEn gt &k, ¥ 54 "abcdef123" ——3f B % A " uvwxy z@#$ "

>>> table = ''.maketrans('abcdef123', 'uvwxyz@#$')

>>> s = "Python is a greate programming language. I like it!"
HI LA R HAT R R
>>> s.translate(table)

"Python is u gryuty progrumming lunguugy. I liky it!’

35
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7.4.5 replace(). maketrans(). translate()

= FEMR: DB E, BANFEERANEE B

>>> import string

>>> def kaisa(s, k):
lower = string.ascii_lowercase #5553 H7
upper = string.ascii uppercase #XE 5
before = string.ascii letters
after = lower[k:] + lower[:k] + upper[k:] + upper[:k]
table = ''.maketrans(before, after) #4) Z weit &
return s.translate(table)

>>> s = "Python is a greate programming language. I like it!"

>>> kaisa(s, 3)
'Sbwkrq lv d juhdwh surjudpplqj odgqjxdjh. L olnh 1lw!'’

36 s



S

mstrip(). rstrip(). lstrip()

>>> s = " abc "
>>> s.strip()
"abc’

>>> '"\n\nhello world
"hello world"’

>>> "aaaassddf".strip("a")

'ssddf’

>>> "aaaassddf".strip("af")

'ssdd'

>>> "aaaassddfaaa".rstrip("a")

‘aaaassddf’

>>> "aaaassddfaaa".lstrip("a")

'ssddfaaa’

\n\n'.strip()

37
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7.4.6 strip(). rstrip(). Istrip()
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7.4.6 strip(). rstrip(). Istrip()

n X = ARG RS A T B A AN, mAAR
FAERGAM AN EMMIRSRTHE T L0ITHFH, —
JE— BEHLAINAE E I\,

>>> 'aabbccddeeeffg'’
'bbccddeeeffg’

>>> 'aabbccddeeeffg'’

"bbccddeee’

>>> 'aabbccddeeeffg'’

'bbccdd’

>>> 'aabbccddeeeffg'’

‘ccdd'

>>> 'aabbccddeeeffg'’

strip(taf') #FEFRAEFHEAHM, HATML

.strip('gaf')
.strip('gaef"')
.strip('gbaef")

.strip('gbaefcd"')

38 el
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7.4.7 startswith(). endswith()

ms. startswith(t). s.endswith(t), HIB 4B 2 H U T4 B I
b5 R4 R

>>> g = 'Beautiful is better than ugly.'

>>> g startswith('Be') HAE M| T S B

True

>>> g startswith('Be', 5) #ig E AN T B AL E

False

>>> g startswith('Be', 0, 5) #3524 e B AL Fo s KA F
True

>>> import 0s . .
>>> [filename for filename in os.listdir(r'c:\\") if filename.endswith((".bmp',".jpg',".gif"))]

39 s
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7.4.8 isalnum(). isalpha(). isdigit(). isdecimal().
iIsnumeric(). isspace(). isupper(). islower()

= isalnum(). 1salpha(). isdigit() isdecimal(). isnumeric(). isspace(). isupper()~
islower(), AANKEHERTART T AFHTH ATHRT N
REAZOFH REAREFHABRAEFEANE FH.

>>> '1234abcd'.isalnum()

True

>>> '1234abcd'.isalpha() #AER A = L F AR = True
False

>>> '1234abcd’ .isdigit() # A A K F A ETrue
False

>>> 'abcd'.isalpha()
True

>>> '1234.0"'.isdigit()
False

40 S
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7.4.8 isalnum(). isalpha(). isdigit(). isdecimal().
iIsnumeric(). isspace(). isupper(). islower()

>>> '1234"' .isdigit()

True

>>> "' .isnumeric() #isnumeric() 7 I H X FHKF
True

>>> 't isdigit()

False

>>> 'H'.isdecimal()

False

>>> "IVIIIX '.isdecimal()

False

>>> "IVIIIX '.isdigit()

False

>>> "IVIIIX '.isnumeric() #EHFHTFLHF
True

41 =
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7.4.9 center(). ljust(). rjust(). zfill()

m center(). ljust(). rjust(Q), BEIE T RENHFFHFE, BFHF
PET AN FREN FHRILEHFAET, W RBETLEXTF
FeRE, NERKEEZHFA (RAATHK) HITH L. 2fill )&
WA A FA S, EAMAFAFOBATH R,

>>> 'Hello world!'.center(20) #EPAF, ATRATHER
Hello world! '

>>> 'Hello world!'.center(20, '=') #E¥XF, AFF=84T7H AL

'====Hello world!===="

>>> 'Hello world!'.ljust(20, '=") # A5 F

'Hello world!========"

>>> 'Hello world!'.rjust(20, '=") #4553

'========Hello world!"’

42 —
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7.4.10 ERFENRIFHNEESF

= PythonFfF B CiF ks 48, £ 7R ANFH S EE,
£ RHFH B

>>> 'hello ' + 'world’

"hello world"

43 e
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7.4.10 FHBEXNRIFHNEES

m A% A BT, K4EFIn

>>> "a" in "abcde" #MX—NFHFRAEHET S —ANAFHEP
True
>>> 'ab' in 'abcde’
True
>>> 'ac' in 'abcde' HEGFin £ 6 T B A — N AR
False
>>> "3" in "abcde"
False
44 S
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7.4.10 FRFENRIFHNEES

= Python 7B i SRS TRIEE S, RaRslEE, Wiks vy
HNAIES, RS E.

>>> 'abcd' * 3

"abcdabcdabcd’

45 S
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L | 7401 ERTFEREMRNmERR "

>>> X = 'Hello world."'

>>> len(x) HF 4T KE
12

>>> max(x) BR K FH
lwl

>>> min(x)

>>> list(zip(x,x)) #zip(VET U R T F& %

[('H*, "HY), ('e’, 'e"), (1%, '1%), ('1°, 1), ('o', "0"), (" ', " '),
(w', W), (o', to'), (rt, '), (U1Y, 1Y), (tdh, d), (L, )]
>>> sorted(x)

[' 'J "IJ IH') 'd'J 'e') Il') 'l'J '1IJ IO') 'O'J 'r\') 'w']

>>> list(reversed(x))

["'J 'dIJ Il') 'r"J 'OIJ 'w', ' 'J 'OIJ Il') 'l'J 'eIJ IH']

>>> list(enumerate(x))

[(6, "H"), (1, "e"), (2, "1%), (3, "1%), (4, '0"), (5, " "), (6, 'w"), (7,
0'), (8, 'r'), (9, '1"), (16, 'd"), (11, ".")]

>>> list(map(add, x, x))

['HH', 'ee', '11', '11', 'o0o0', ' ', 'ww', 'o00', ‘'rr', '11', 'dd', '..']

46 —c
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7.4.11 ERATFFAFEMNRAANERH

o N & % Heval() ] R I0/E & F4F B 2540 A Python & 18 X FF 32
AT KA.

>>> eval("3+4") #i+ B KR X a9{E

7

>>> a =3

>>> b =5

>>> eval( ‘a+b’ ) #X R R T FafbT A4
8

>>> import math
>>> eval('math.sqrt(3)"')
1.7320508075688772

47 i
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7.4.11 ERATFFAFEMNRAANERH

oPython#) M & & #eval() 7T VAT HAE & Ak R & XA9ME, 4o
RA BT P WM E T NIRRT R, T APATAE
BINHRAE R B FIEAM B 69, Hlde T @ 69RABIELTE T
VA2 FIeF KALF

>>> a = input('Please input a value:')

Please input a

value: import ('os').startfile(r'C:\Windows\\notepad.
exe')

>>> eval(a)

e TH RN LSFHKEZ—IN, maEI —BIE A Z AT T
£ P A T —ANF AF E testtest:

>>> eval(" _import  ('os').system('md testtest')")
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7.4.12 FEFEXNRIVIFEE

e MR LER T F/HE, BATRTFRRLPHAE, T IHFFHFB LR

>>> '"Explicit is better than implicit.'[:8]
"Explicit’

>>> 'Explicit is better than implicit.'[9:23]
'is better than'

>>> path = 'C:\\Python35\\test.bmp'

>>> path[:-4] + ' _new' + path[-4:]

"C:\\Python35\\test new.bmp'
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7.5 FHEE=E

mPython#7/ Fstring ¥ BEFFZH FEFT 3ELFH

3L
KB FH. NEFEHEFH 2,

>>> import string

>>> string.digits

'0123456789"'

>>> string.punctuation

"TUHEKBEN " () F+, - ./ 5<=>2@[\\]"_"{]|}~'
>>> string.ascii letters
"abcdefghijklmnopgrstuvwxyzABCDEFGHIJKLMNOPQRSTUVWXYZ'
>>> string.ascii_lowercase
"abcdefghijklmnopgrstuvwxyz'’

>>> string.ascii _uppercase
"ABCDEFGHIJKLMNOPQRSTUVWXYZ'
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7.5 FHEE=E

- RS A AR KR A AL A

>>> import string

>>> characters = string.digits + string.ascii_ letters

>>> import random

>>> "'.join([random.choice(characters) for i in range(8)])
"J5Cuofhy’

>>> "'.join([random.choice(characters) for i in range(10)])
"RKHA3K3tN1'

>>> "'.join([random.choice(characters) for i in range(16)])

'zSabpGltJex4cCjh’
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7.6 351

>>> import jieba #F ANjiebatzie

>>> X = "SR AR EAEZ R T G 4 LR BT A RAER
>>> jieba.cut(x) #1457 B IA 18] B AT 414
<generator object Tokenizer.cut at 0x000000000342C990>

>>> list( )

['oxa', "&', “EHAR, "HE', '®w', 'T', &L, 'XAL&HE', "M,
A, CHE, ey, TR, AR, o ']

>>> list(jieba.cut('&4r"))

["4Ar" ]

>>> list(jieba.cut('fe%44r"))

[, "#AR"]

>>> jieba.add word('fLAr") #38 o id) &

>>> list(jieba.cut('E4%4%")) #4827 #7 A B AT 5-97)
[ ]

>>> import snownlp #-F Asnownlp#E 3k
>>> snownlp.SnowNLP('F@mbErJ 2, Ra#-F").words
[I%‘%IJ IEH_ZIJ I‘Z—': '7 'J 'Z:""J 'Vé%']

>>> snownlp.SnowNLP(x).words
[Iéy\i‘ﬂlj Ié/‘ﬁl, l;ﬁ/g)%&l) Iﬁj&l) I/’\?jﬂ@‘) ITI, l}?j‘éil, li$l, '%}E', 1
ﬁpl) I%%#EI) I;@’;)‘%‘) Ié/‘ﬁl, 'I}@ié%', lj,‘(i%l, lO l]
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7.7 XFRIHGIERIEER

>>> from pypinyin import lazy pinyin, pinyin

>>> lazy pinyin('&4+E") #3R | Bf 5

['dong', 'fu', 'guo']

>>> lazy pinyin('Z4H"', 1) #i 7R

['dong', 'fu', 'gud']

>>> lazy_pinyin('&4H", 2) #5 —RBFH X, BFRTAE
FH# 49 7= 9

['do3ng', 'fu4', 'guo2']

>>> lazy pinyin('E4E"', 3) #RB DB 5 E FH

[d', "F', '8"]

>>> lazy pinyin('£2', 1) #AEBARIETFI AT AR IR A £ F F

['zhong', 'yao']

>>> lazy pinyin('=zm', 1)

['chong’, 'yang']

>>> pinyin('ZM") #iR =] &
[['chong'], ['yang']]

>>> pinyin('ZMm ¥ ', heteronym=True) #i& & % & 56 A i35
[['zhong", 'chong®, "tong'], ['yang'], ['jié", 'jie']]
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10:21:10

>>> import jieba #HEL L REZF ANjieba,

X P RARPCLE
>>> X = 'wERAStestl23!
>>> lazy pinyin(x) #a A CEEN
jieba¥ & & %377 ik
[ 'zhong', 'ying', 'wen', 'hun', 'he', 'testl123']
>>> lazy pinyin(jieba.cut(x))
[ 'zhong', 'ying', 'wen', 'hun', 'he', 'testl123']
>>> X = "WLWARMEE 9 KRBT
>>> sorted(x, key=lambda ch: lazy pinyin(ch))
#5 PEF 3T T HATHE

[IUMI, luél) lklJ Ié@l, l?\l) lﬁ%l) ')_LJ', lé‘l) l#;[al, 1
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7.8 BRERGIFEH

" T BB RHERTE P ERRE, BRI
4, KRR Rk

def crypt(source, key):
from itertools import cycle
result = "'
temp = cycle(key)
for ch in source:
result = result + chr(ord(ch) * ord(next(temp)))
return result
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10:21:10

source = 'Shandong Institute of Business and Technology'

key = 'Dong Fuguo'

print('Before Encrypted: '+source)
encrypted = crypt(source, key)
print("After Encrypted:'+encrypted)
decrypted = crypt(encrypted, key)

print('After Decrypted:'+decrypted)
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7.8 BRERGIFEH

n P72 BHERF, ERKBEIAZE, XAEF 2RI ETHIERLNX
IR TR IR IE T A, TMURR A LR TR RE &,
T VAR o R AL S KR R T AL R e B0 F 3

code\randomInformation.py
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s Bl4-3 R EFFHIBE S T R A K R .

import string

def check(pwd):
A I 2 DALE 6 T
if not isinstance(pwd, str) or len(pwd)<6:
return 'not suitable for password'’
# D 9m SR  AL S AT R R R R R
d = {1:'weak', 2:'below middle', 3:'above middle', 4:'strong'}
#r M HRbricdpwd e B EH Y. DEFR K PARATEE S RS

r = [False] * 4
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for ch in pwd:
#REEEH T
if not r[@] and ch in string.digits:
r[@] = True
#REBHE /NG 7
elif not r[1] and ch in string.ascii_ lowercase:
r[1] = True
#REHEKE 7
elif not r[2] and ch in string.ascii_uppercase:
r[2] = True
#R BB 1R E PR RS
elif not r[3] and ch in ',.!;?<>":
r[(3] = True
#ARHEE AR, IR B R
return d.get(r.count(True), 'error’)

print(check('a2Cd, "))
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